Math 1A (9:30am - 10:20am) What month is your birthday ?

Midterm 1 What are the first 2 digits of your address ? SRR

Tue Jan 27, 2008 What are the last 2 digits of your zip code ? 0
What are the last 2 digits of your social security number ?

SCORE: ___ /100 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

State the Squeeze Theorem. SCORE: ___ /5 POINTS
F ‘%(»’D 7 (x) < h (><> on (¢ ) d ) EXCEFPT POSSIRLY

AT x:‘-‘-cﬁ € le.d)
w0 |im £OY = o WGOD=L e L 5&) e

X2 A DAL W% O~

(Y m oY o R i RY Fio oY o P 5 i oD i X oo i Fio D o0 H G o P T om0 (o D Fi KD P oo i o i D o D i 2D o D o #2)

State the prec1se definition of a limit. SCORE: __ /5 POINTS
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Determine the interval(s) on which f(x) = x =49 — X is continuous. Show all relevant work. SCORE: __ /10 POINTS
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Find all horizontal asymptotes of f(x) =

5%
Nxc =9

. Show all relevant work. SCORE: __ /12 POINTS
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MULTIPLE CHOICE: lime * =

x—= 07

[a] e (b] 0

LETTER OF CORRECT ANSWER: [ D ]

Evaluate the following limits. Your answer should be a number, 00, — 00 or “DNE” (if no other answer applies). SCORE:
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SCORE: __ /5 POINTS

[c] 1 [d] ©

Show all relevant work as demonstrated in class. If an answer is “DNE”, explain briefly.
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